ENGINE CASE http://sparepartsfinder.husqvarna-motorcycles.com/Print.aspx?includePa...
2014 / TC 125 HQV
B Husqvarma ENGINE CASE
C145033011
@ - —®
N
o 43
- fae)
(42t—= - @ (46)—
44 Aﬂ/-
[N - —
@ - ‘ il
"“ @ ORAS S
(oo | Dichtungssatz
£ b \99) 1" Gasket-set
a2 I.L 1
i : j .-"f...l @
= -2)Y, :
s '|_ !_F ' o i : 3
1| ol - = 7R =
L ¥ .."""\-\_ ".'. = N i'
- ,\‘__l - F --l' o - i
- o S o
ok T =\ I -y
@ sty S Ik at @
iy 3 ia J @ [ )’F :
. D S0pe 1
- e il 3 e
RS g £l
(22)
@ 0 g5
z ® ©
@
#®E)@) ®
Position Part number Description Qty
1 52430000033 ENGINE CASE KPL. 125-200 13 1
3 52430002200 IGNITION COVER KICKSTART 1
5 54630027000 DOWEL BUSHING 13,8X11X12 2
6 45230024000 DOWEL 9,8X7X5.5 2
21 58030021000 OILDRAIN PLUG W.MAG. M 12X1,5 1
22 58038022000 CU-SEAL RING DIN7603-12X18X1,5 1
39 50330039000 ENGINE CASE GASKET 0,5MM '98 1
42 0025060506 HH COLLAR SCREW M6X50 TX30 6
43 0025060556 HH COLLAR SCREW M6X55 TX30 5
44 0025060206 HH COLLAR SCREW M6X20 TX30 3
45 0025060606 HH COLLAR SCREW M6X60 TX30 1
46 0025060256 HH COLLAR SCREW M6X25 TX30 2
92 50330092000 OIL GUARD GROMMET 25X31 '98 1
99 50330099201 GASKET SET 1

1of1

11/06/2014 15:12



